NEW STEEL BEAM SEE PLAN

HSS 8x8x0.313 HORIZONTAL BRACING
CONNECTION DESIGNED
FOR Cf = Tf = 95004

NEW STEEL BEAM SEE PLAN——— |

HSS 8x8x0.500 COLUMN———\'

14x14 x 5/8 STEEL PLATE—
TOP & BOTTOM C/W
4-3/4"¢ A325 BOLTS

HSS 5x5x0.250
"KNEE' BRACE

HSS 8x8x0.500 STUB COLUMN ON
8 1/2 x 15 1/2 x 3/4 BASE PL %
C/W 4-3/4"¢ THRU BOLTS

AP LN T S

e 1
L%’.J

HSS 4x6x0.250 (LSV) SPACER ES—/
FULLY WELD SPACER TO

TOP FLANGE OF W18 BEAM

WITH 1/4” FILLET GROOVE WELD

| x EXISTING W18 BEAM
AN
e EXISTING OWSJ
(S S
ig.
%{ “———— EXISTING W12 COLUMN
/i‘g/

/"1 \SECTION

NOTE: HORIZONTAL WIRE ROPE BRACE NOT
SHOWN FOR CLARITY.

A
3
S |
% HSS 8x8x0.500 COLUMN
. 2 8 1/2 x 15 1/2 x 3/4
4-3/4% THRU BoLTS—, ©_| / / BASE PLATE
A

t‘EXIST W18x45

HSS 4x6x0.250 (LSV) SPACER ES
FULLY WELD SPACER TO

TOP FLANGE OF W18 BEAM

WITH 1/4" FILLET GROOVE WELD

’ 1/2” a
\21/

L

_EXISTING OWSJ

/ A\ DETAIL

S2.1 J 3/4" = 1'-0°

HSS 8x8x0.313 HORIZONTAL BRACING

CONNECTION DESIGNED
FOR Cf = Tf = 95004

NEW W STEEL BEAM

CAP ALL HSS C/W 1/4" PLATE.
FULL SEAL WITH WELD

—

HSS 5x5x0.250 'KNEE' BRACE

4'-0" MIN

/—————- HSS 8x8x0.500 COLUMN
|

c/w 4-3/4"8 A325 BOLTS

HSS 8x8x0.500 STUB COLUMN ON
8 1/2 x 15 1/2 x 3/4 BASE PL

5t 55 Nt S5 55 15735515555 5

C/W 4-3/4" THRU BOLTS

14x14 x 5/8 STEEL PLATE TOP & BOTTOM

e s 5599 o ST P55 T P, O V00 55 P 003577 P8

———— 1 1/2" STD PIPE RAL

_—e)

~———— 1 1/4" STD PIPE UPRIGHTS
AT 4-0"t 0/C

1"9 STD PIPE MID—RAIL
%o / ROOF TOP UNIT & ROOF CURB —=
nl HRU BY OTHERS, <
TYPICAL ALL UNITS

1'-9"

4 x 1/4 CONT KICK PLATE

1'-9”

/
2 jfff
B &
HSS 4x6x0.250 (LSV) SPACER ES
FULLY WELD SPACER TO
TOP FLANGE OF W18 BEAM

st ool
R A S

3 E YW\ WITH 1/4” FILLET GROOVE WELD
g | KN 4
: ?2 \}‘}\ S 53 ;;(‘
| i L 4 4
§ §§ i\ N \;z 4
. i N i 4
i E § ", £
? § % kﬁ, j;:"
; : AR V4
! AN 4
§ \k Y

s

1" x 3/16" STEEL BAR GRATE
/  C/W CROSS RODS @ 4" 0/C

3 s . .
¥ ¥

C8x11.5 CHANNEL ——

=]

‘ W12 STEEL BEAM SEE PLAN
= . DESIGN FOR FACTORED MOMENT
: U/S STEEL TO BE 4'-0 AND SHEAR INDICATED ON PLAN

ABOVE FINISHED ROOF —/
W24 STEEL BEAM SEE PLAN

s

s T
SR AR e
e

T-EXISTING OWsJ, TYP

|
i
i
|
i

[
%
i

SR st s
SRS T T e R S R R TS

e s

SR
s
S

/2" \SECTION

NG

STEEL SUPPLIER TO DESIGN ALL
CONNECTIONS NOT SPECIFICALLY
DETAILED ON THESE DRAWINGS.

14"

TYP

+1'-3 1/2°

+2'-7 1/2"

SAWCUT PLAN DETAIL

ON GRADE

LINE OF SAWCUT
P 5 /

|
|
|
| |
Y g {—— REFER DETAL D/S2.1 FOR
\ | SLAB INFILL SPECIFICATIONS
|
l
|

w 3/4" = 1'-0"

3/4" = 1'=0"
NOTE: CONTRACTOR IS TO CUT OUT EXISTING ROOFING, INSULATION

& STEEL DECKING AT EACH NEW COLUMN LOCATION TO
ALLOW FOR THE BASE PLATE TO BE INSTALLED DIRECTLY ON
TOP OF THE NEW STEEL HSS SPACERS. ONCE THE COLUMNS
ARE INSTALLED, THE CONTRACTOR IS RESPONSIBLE FOR
RE—ROOFING AROUND EACH NEW COLUMN

HOUSEKEEPING PAD AS REQUIRED.
REFER TO MECHANICAL & EQUIPMENT SHOP
DRAWINGS FOR LOCATIONS & SIZE.
PROVIDE 10M @ 12" 0/C EACH WAY TOP
MIN THICKNESS 4", MAX THICKNESS 6 1/2”

EXIST SLAB TO REMAIN

/3 \SECTION
w 3/4" = 1'-0"

ROUGHEN EXIST CONC SURFACE TO REMOVE
ALL LATENT MATERIAL. ENSURE SURFACE

IS THOROUGHLY CLEANED PRIOR

TO POURING NEW PAD.

C \TYPICAL HOUSEKEEPING PAD DETAIL

AREA OF WORK

)
S
/// s MAINTENANCE (BASEMENT LEVEL)
s & REPAIR
oy BUILDING
A R

KEY PLAN

NTS

300-275 Carlton Street
Winnipeg, Manitoba R3C 5R6
T 204. 943. 7501

F 204. 943. 7507

PROVIDE 10M x 300 LG L—SHAPED DOWELS

@ 12" 0/C AROUND PERIMETER OF NEW PAD.

INSTALL INTO 1/2°¢ x 4" DP HOLES
C/W HILTI HY200 ADHESIVE.

2016-1162
Crosier Kilgour
& Partners Ltd.
CONSULTING STRUCTURAL ENGINEERS
5
4
3
2
1
0 ISSUED FOR CONSTRUCTION JAL | 21/08/17
NO. Description BY | DD/MM/YY

W 11/2" = 1'=0"

PROVIDE 10M x 18" LG DOWELS @ 12" 0/C
INTO 1/2"¢ x 8" DEEP HOLES

C/W HILTI HY200 ADHESIVE
TYPICAL 3 SAWCUT FACES

NEW 8" THICK SLAB R/W 10M @ 12" 0/C
EACH WAY BOTTOM ON 6" CARDBOARD VOIDFORM

=APECHI

Certificate of Authorization

Crosier Kilgour & Partners Ltd.
No.235 Date:_2017-08-21

PROVIDE 1/4” WIDE x 1/2" DEEP SAWCUT
FILL WITH DOW795 SEALANT
EXIST SLAB ON GRADE :
TO REMAIN _\
. /

18"
(\

SAWCUT FACE

SEE PLAN <

/D \SLAB INFILL DETAIL

770 Bradford Street i
Winnipeg, Canada
T 204 775 0291 «

SMSeng.com ENGINEERING

sz 11/2" = 1'-0"

Project Title

CITY OF WINNIPEG FORT ROUGE
TRANSIT BASE - STORAGE TRACK
1-12 VENTILATION UPGRADE

WINNIPEG MANITOBA

Drawing Title

PLAN DETAIL & SECTIONS

Drawn By Checked By Approved By
MS JAL HJL
Scale Date Project No.
AS SHOWN 2017-08-21 16-149-01
Revision Number Drawing Number Sheet Order

0 S2.1 3 0F 3




